Mollier-h-x-Diagramm fir feuchte Luft - Druck 0.950 bar (5637.000 m / 10.000 °C / 80.000 % rF)

m £ 2 8 W a)yona |9y QO O‘
= =~ ® & - 9, &
o
AN AN 4
LA N = G HAVELHAN %
VR EVER N
TSRS
S e AL VEINE
B8 07 @ TR T AT NPTy
LN AV V% 0 NN
LN 92 AV LV
SiER Nt
BB g8 AT IR TR, oW
T TN PR N N DS A
& PR TN I PR,
SN TR PR IS
bbos ST NPT IR ERER
NP CEIVEENDE L WA
ST N T NPT NN
MANEEENEE AN
A D = B U N DV AV AY
66 oz ST LT N TS T RN
CNIDEaANERENEE L GENERNAYE
N N RTINS SO
INEERE AR NEENEE CENENAN s
PP N TN PR NN S o
T b I NN ENEEE A ANENERZ AN
TN O T NN ERCTNONOS
S P R N N = N
S T RO T T RCEPRO NN
N AT N PR TN NS N
PO - L N =
ARG TN I T T PN T T TN AT NN
RS REEC NP Z A NI NS S
= P N PR T R TR
AN REER NG RS R NN
PR A N RS U AR RS AR N EE N vl
S LR T TN T DRI e N B 5
P P T R DR NP = T~ A
SRR = <IN YEEP L ERNEE = N
TR T T e SR T T RPN TS =
BB ¢ 2 Tt | e L PR T ESEgS P
B P T L T LT e T TR T e T
2 O O o = = TS
T e T T LD ==t =
oAt = = \ =t T
BB o P T T T T e T T 7 = T T T
RERRRRRRARRRRRR AR AN ENRAERRREER
g L g2 BB 3 & & B & b &5 B 2 b g

njesadws |




